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BerSkna f (0)d@E
S(x)=x
f(x)=x+1
f(x)=x-1
f(x)=3x

f(x) =27
f(x)=2"
f(x)=5"

f(x) =11

S =x
f(x)=x

f(x) =7x-11+x°

f(x):i

BerSkna f(1)dE
f(x)=x
f(X)=x+5
f(x)=x!1
f(x)=2x
f(x)=3"
S(x)=25"
/(%) = Jax
f(x) =7x-11+x°
fon =1

X
BerSkna f(2) dE
f(x)=x
f(X)=x+2
f(x)=x!2
f(X) =9x
f(x)=42
f(x)=2"
S(x)=9
f(x) =18x
f)=x"+2
fon =1

X

Extrablad anvSndning av f(x)

f(X) = x+1 berSkna
£(0)

J@

/(2

£(6)

f(=1)

f(=2)

f(a)

f (X) = 3x berSkna
f(0)

f@

f(2

£(5)

f(=1)

f(=3)

f(a)

f(x) = vx berSkna
f(0)

f@

f4)

f(36)

£(0,25)

£(0,36)

f(x)=2x-1 berSkna
f(0)

f(D)

f(2)

f (5

f('D

f('2)

f(a)

f(x) = x? berSkna
f(1)

£(2)

£(5)

F(11)

f(12)

f(15)
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f(x) = x* + 2 berSkna
f(D)

£(2)

£(5)

F(11)

f(12)

f(x) =2x -1 berSkna
f(a)

f(a%)

f(a+l)

f(a2 +1)

f(@+h)

f(a+h)

fL+h)! f(D)
f(3+h)! (3

f (x) = x* berSkna
f(a)

f(a%)

f(a+l)

f(a?+1)

f(@+h)

f(a+h)

Fa+h)! Q)
f@3+h)! f(3)

f(X) =2x+1och
g(x) = x* berSkna
SO+g@®

92+ f(2
f(5)+903

f@! 9@

g®! f@

f3)! 9(2
S@)-g)
/0)-g(3
g(0)- /(3
f(9(D)

g(f(@)

f(9(0))

9(f(0)
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BerSkna f (0)d@E
f(X)=x=0
f(x)=x+1=0+1=1
f(x)=x!1=0!1=11
f(x)=3x=310=0
f(x)=27
f(x)=2°=2°=1
f(x)=5"=5°=1
f)=11"=11° =1
f(0=vx=40=0
f(x)=x>=0°=0

f(x)=7x! 11+x*>=7"0! 11+0* =111

f()=2
X
BerSkna f(1)dE
f(x)=x=1
f(X)=x+5=1+5=6
f(x)=x!1=111=0
f(x)=2x=211=2
f(x)=3"=3"=3
f(x)=25"=25"=25

f()=vax=+411=4=2

f(X)=7x-11+X> =7-1-11+1" =7-11+1=8-11=-3

BerSkna f(2) dE
f(x)=x=2
f(X)=x+2=2+2=4
f(x)=x!2=2!2=0
f(X)=9x=912=18
f(x)=42
f(x)=2"=2°=4
f(x)=9*=9%=81

f(x)=+/18x =182 = /36 =6
f(X)=x"+2=2°+2=4+2=6

Facit

Ej definierat. Division med 0 &r inte tillatet
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f(X) = x+1 berSkna
f(0)=0+1=1
f(1)=1+1=2
f(2)=2+1=3
f(6)=6+1=7
f1)=11+1=0
f(12)=12+1=11
f(a=a+l

f (X) = 3x berSkna
£(0)=3!0=0
f)=311=3
f(2)=312=6
f(5)=315=15
f1)=3"(11=13
f(=3)=3-(-3)=-9
f(a)=3'a=3a

f (x) = v/x berSkna

f(0)=+/0=0

f(l)=+1=1

f(4)=4=2

f(36) =+/36 =6

f(0,25=025=05 f(0,36) =036 =06

f(x) =2x -1 berSkna
f(0)=2"0!1=11
f(=2"111=211=1
f(2)=2"211=411=3
f(5)=2"5!11=10!1=9
fep=2"(tn!i1=1211=13
f(12)=2"(12)!1=1411=15
f(a=2"al1=2a!1l

f(x) = x? berSkna
f1)=1*=1
f(2=2*=4
f(5)=5°=25
fep=(010%=1
f(12=(12*=4
f(15=(5°=25
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f(x) = x* + 2 berSkna

f=1"+2=1+2=3

f(2)=2"+2=4+2=6

f(5)=5"+2=25+2=27

f(-D)=(-1)>+2=1+2=3 f(=2)=(-2)+2=4+2=6

f(x) =2x -1 berSkna

f(a)=2a-1

f(@’)=2a" -1

f(a+)=2(a+])! 1=2a+2!1=2a+1
f(@®+)=2@"+1)! 1=2a*+2! 1=2a°+1
fA+h)=2(1+h)-1=2+2h-1=2h+1

f(a+h)=2@+h)! 1=2a+2h! 1

fA+h) - f(D)=2(1+h)-1-2-1-1)=2+2h-1-2+1=2h
fB+h)-f(3)=2B+h)-1-2-3-1)=6+2h-1-6+1=2h

f(x) = x* berSkna

f(a)=a’

f(az):(az)z -3

f(a+l) =(a+1)*=a’+2a+1
f@+)=@@ +1)’ =(@’) +2-a* +1=a" +2a* +1

f(1+h) =@1+h)*> =1+2h+h?

f(a+h)=(a+h)>=a”+2ah+h’

FA+h)= fA)=(+h)> =(1®)=142h+h> —1=2h+}’

f(3+h)! f(3=(3+h)?! (F)=3+2"3"h+h?1 9=9+6h+h?! 9=6h+h’

f(x) = 2x+1 och g(x) = x* berSkna
FD+g()=2-1+1+1"=2+1+1=4

g2+ f(2)=212+1+2°=4+1+4=9
f(5)+g(3) =2!5+1+3% =10+1+9=20
f@)! g()=2"1+1! (1) =2+111=2

g@! f()=1?! (2"1+) =11 21 1=11 3=12
f(3)! g(2)=2"3+1! (2°)=6+1! 4=7! 4=3
fM!gD)=R1+D!(1*)=(2+1!1=3
f(0)!g(3) =(2!0+1)!(3*)=119=9

g(0)- f(3)=(0%)-(2:3+1)=0-7=0
feM)=f1")=fM)=2-1+1=2+1=3
g(f()=g2-1+1)=g(3)=3"=9

f(g(0)) = f(0?) = f(0)=2!0+1=1
g(f(0))=g!0+1) =g =1* =1



